PANDUIT

StructuredGround Kits for Rack Grounding

(© Panduit Corp. 2021

INSTALLATION INSTRUCTIONS

T-PMPI-262-PC

Rack Grounding Strip

g 3
M6 Screw
- 3
12-24 Screw

L % /] 5

M5 Screw

% s

10-32 Screw

Universal Grounding
Sticker

Cleaning Pad

. AntiOX

AntiOx

10

10

3.0 Ibf-ft
(4 Nem)

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 1 of 4



(© Panduit Corp. 2021 INSTALLATION INSTRUCTIONS T-PMPI-262-PC

Common Bonding

Network Jumper i o = cfo:':
- ', ,,:,:o,’o:ﬁ:o,&
@ LBRKRE
L et
i,
g 2 ]
A
7y )" l" I" L7
LTI AT
s
M6 Screw 4

%J 5

12-24 Screw

& _':'.
| 2
M5 Screw | @

3y
{5

.g'/ 2
10-32 Screw
1
HTAP
1
Pad
AntiOX |
¢ 1
AntiOx

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 2 of 4



(© Panduit Corp. 2021 INSTALLATION INSTRUCTIONS T-PMPI-262-PC

1in.

(25.4mm)

%

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 3 of 4



INSTALLATION INSTRUCTIONS

T-PMPI-262-PC

Equipment Jumper
24" (0.61m)

mﬂ::f::l 1 1

Equipment Jumper
24" (0.61m)

m::rf:.zl____1

Equipment Jumper
36" (0.91m)

—— | _ |- |2

Equipment Jumper
57" (1.45m)

% 2|2 |2|2]|2

M6 Screw

12-24 Screw

f
L

&
% ol o [Fal 2 |5

M5 Screw

Cleaning Pad

AntiOX

AntiOx

K
(e
“‘\‘:\:“t

3.0 Ibf-ft
(4 Nem)

P

s

AN -
SHN

)

\ /

For Instructions in Local Languages
and Technical Support:

www.panduit.com/resources/install_maintain.asp

PANDUIT

www.panduit.com

E-mail:
cs@panduit.com

Fax:
708-444-6993

Page 4 of 4

Rev 07



